SEHRTE S KBTI  HH5:99.0117

& £ 17 [ HERR o4
Bl |3-2 BN AXEIZ(IT) | HESR =

— 5tEE (BE 20 )
1o B (x) =26 —mx? +nx =7 i Bl x+ 122 x 108052 » 30F f(x) -
&t f(0=2+7%-2x-7

JER)

~

oy

N

4

f(X) =2x —mx? +nx—7 ' Bl X+ 122 x -1 = f(-1)=0 - f())=0
{f(—l):—Z—m—n—7:0

-7
=™ Bl f(X) = 2x° +7X° = 2x -7
fQ)=2-m+n-7=0 2

Z‘F%f(x) S A G ’?fxﬂ]ﬁlf(l)z f(2)=f(3)=0%" f(5)=120 » F&f= 7V 2201 f(x)

[ %] () =5(x-1)(x—2)(x~3)

i3]
fM)=f@2)=f@)=0= f(x)=a(x-1)(x—2)(x—3)
f(5)=120=a-4-3-2=120,a=5= f (x) =5(x —1)(x— 2)(x—3)

3 r.%f(x):—5x“+(a—2)x3—6x2+(a2+1)x+3 , ) 2x+1] f(x) o Fefa i

35
Tl g=——0 —
a--3.2
fAtt

2x+1| f(x) = f (—%) 0= —5(—%)4 + (a—z)(—%f —6(—%)2 + (a2 +1)(—%) +3=0 >

= -5-2a+4-24-8a°-8+48=0
—=8a’+2a-15=0

= (2a+3)(4a-5)=0= a:_g,%

4~ FRPNFC T 2% 4+ 3% 411X +5

D (2x+1)(X% + X +5)

fE47| -
[ O NP AR ¥ ax—b] f () =] 2,b]5
b 1 5 2+ 3+11 +5
a=11+2; b=4145—=—=4145+— +— 1
a 2 2 - 1-1-5|_=
£ f(—i)—0:> f (X) = (2x+1)(x* + X +5) 7
=F 2" a 212+2 +10/+0
1+1+ 5

£1RH



i A x4+—x3+—x2—§x—§=0 o

x“+§x3+£x2 —Ex—1:0:>8x4+12x3+2x2—3x—1:0

< f(=1) =0, f (%) 0= (x-1)(2x-1)(2x+1)?* =0

x=—1,£,—i
2 2

£28

8+12+ 2-3 -1
-8 -4+2 +1|-1

8+ 4— 2-1/[+0

+4+4+1£
| 2

2|8+ 8 + 240
444 +1



